
 

7WB7 - 88 
 

 

2014 University of Utah Middle School Math Project in partnership with the 
Utah State Office of Education. Licensed under Creative Commons, cc-by. 

 

7.4a Homework:  Special Angle Relationships  

1. Find at least one example of each angle relationship in the diagram. Name the angle pairs below, and 
highlight the pairs of angles in the diagram, using a different color for each relationship.  

.  
a) Vertical angles 

 
 

 
 

b) Supplementary angles 
 
 
 
 

c) Complementary angles 
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2. For each figure of two intersecting lines, calculate the three missing measures, justifying your answer.  
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
 
 

 
 
 

Angle Measure of 
angle 

Justification 

∠𝐶𝐸𝐵   

∠𝐷𝐸𝐴   

∠𝐵𝐸𝐷   

Angle Measure 
of angle 

Justification 

∠𝐿𝑂𝑀   

∠𝑀𝑂𝐾   

∠𝑁𝑂𝐿   

Angle Measure of 
angle 

Justification 

∠𝑃𝑆𝑇   

∠𝑅𝑆𝑄   

∠𝑄𝑆𝑇   
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3. For the figure formed by three intersecting lines, calculate the four missing measures, justifying your 
answer.  

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
Angle ∠𝐴𝐸𝐹 ∠𝐴𝐸𝐶 ∠𝐴𝐸𝐷 ∠𝐷𝐸𝐺 ∠𝐶𝐸𝐵 ∠𝐹𝐸𝐺 

Measure 52°      

Justification Vertical to 
∠𝐺𝐸𝐵 

 
 
 
 
 
 
 

    

 
4. Refer to the figure below.   

 
𝑚∠𝐴𝑍𝑈 =       because  
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5. Fill in the missing angle measurements in the table, and give a justification for each measurement.  
 
 
 
 
 
 
 
 
 
 
 
 
 
 

Angle ∠𝐴𝐷𝐺 ∠𝐺𝐷𝐵 ∠𝐵𝐷𝐻 ∠𝐶𝐷𝐻 ∠𝐶𝐷𝐸 ∠𝐶𝐷𝐴 

Measure 57°      

Justification Vertical to 
∠𝐸𝐷𝐻 

     

 
For #6-8, draw a diagram to illustrate the situation, and then choose the correct answer.  

6. If ∠G is complementary 
to ∠𝐻, and 𝑚∠𝐻 = 20°, 
then ∠𝐺 must be:  

a. Obtuse  
b. Acute 
c. Right 

7. If ∠𝐵is supplementary 
to ∠𝐶, and 𝑚∠𝐶 = 90°, 
then ∠𝐵 must be:  

d. Obtuse  
e. Acute 
f. Right 

8. If ∠D is vertical to ∠𝐸, 
and 𝑚∠𝐸 = 115°, then 
∠𝐸 must be:  

g. Obtuse  
h. Acute 
i. Right 

 
  


